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a 1 mark for:

or off (box 3)

+ Binary is used because computers are made of switches that can only be on

Accept cross or other indication as
long as clear which one they intend.
2+ ticks = 0 marks

*  200MB (box 3)

b 1 mark for each completed box Must be 8-bits.
Denary 8-bit binary Hexadecimal Ignore case in hex.
; 00000111 ; Ignore calculations in answer box.
49 00110001 31
102 01100110 86
244 11110100 F4
c 1 mark for: Accept cross or other indication as

long as clear which one they intend.

2+ ticks = 0 marks

d 1 mark for both boxes: 1 Accept cross or other indication as

« 4500000 bytes (box 1) long as clear which one they intend.
4.5 MB (box 3) 1/3+ ticks = 0 marks

e 1 mark each: 2 Do not award marking for converting
* Answer(1)00001111 each number to denary and adding
* Correct working e.g. carrying (might be above, below efc.) them together. If the carries are

01110001 present, and converting to denary is
10011110 present — award the carries
00001111 {conversion can be used to check their
carries: 111 answer).
Marks are not dependent.
f 1 mark each: 2
= Left shift
* 3places
a 1 mark for each completed space 5 Award the same term used multiple times if used

correctly

A character set stores all of the characters that
the computer can represent. Each character is

given a unique/different binary code.
Lower-case and upper-case letters in a character

set are given unique/different/similar
binary codes.
One example of a character set is ASCII. This

character set uses 8 bits for each character. If the
ASCII value for the character 'F' is 70 Then the
ASCII value for the character "L" is 7.

b i 1 mark: 1 Question is for a definition, not an example.

* Data about the data/image/ffile If the definition is not clear, for example details about
the image, information about the image - this is NE, but
read the example to see if it clarifies. For example:
'Information about the image, such as the number of
pixels' give a BOD.

Data could be properties/characteristics.
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b ii |1 mark each: 2 Ignore case/spelling as long as legible.
s First row: red red purple
s Remainder correct and in correct order If a candidate has completed the table in the incorrect
layout e.g. right to left, or bottom to top, then award
red red purple MP2 as a FT if they have done it all correctly.
blue green blue
purple purple purple
red green blue
b iii 16 1 Accept any calculation that equates to 16 i.e. 2*
b iv | 1 mark each to max 2: 2 Do not award higher resolution, image size increases,
= The quality of the image can be improved clearer image (NBOD) more detailed image (NBOD).
* The file size will increase // takes up more
storage space // image has/requires/takes up Closer to original is NE on its own because there is not
more data an original image in this context.
* The number of colours that can be
representedfused will increase // BOD more Mark first answer in each answer space.
colourful
c i 1 mark for lossless 3 Do not award an example of lossless for 15 mark (e.g.
RLE), but FT for justification.
1 mark each to max 2 for justification:
e.g. Do not FT for lossy.
+ Lossless will not remove any data
// No data is lost with lossless Accept reverse for answers e.g. Lossy will remove data.
/! File/data can be fully reconstructed back to
the ariginal If compression type is missing, read justification and if
« Textfiles require all data to open/be used/work clearly stated which type is used then award
/! text files will not work if any data is lost justification.
I/ lossy cannot (usually) be used on text files
/! none of the required characters / words / MP1 requires reference to the data (or equivalent) not
spaces / case / formatting / information would be information.
lost MP2 requires reference to the text file context and
/I the text will remain accurate information is allowed.
{/ the text will not have changed meaning
/I the text will still make sense If not valid compression — 0 marks.
c iil | 1 mark for lossy 3 Do not award an example of lossy for 1% mark (e.g.
reduce resolution), but FT justification.
1 mark each to max 2 for justification e.g.:
* Wil reduce the file size more/significantly Do not award lossless but FT for justification for
(than lossless) lossless: e.g.
* Image will only lose quality // changes may not * Quality/detail of the image can be retained
be noticed by the user // remove * Mo data will be lost (permanently)
unnoticeable/unnecessary detail/content + File size may still be a substantial reduction
If compression type is missing, read justification and if
clearly stated which type is used then award
justification.
Do not award how the file can be compressed e.g.
reduce number of colours — unless they also state that
this change will not be noticed.
MP1 it compresses the file more is NE — compression is
in the question, the candidate needs to explain what
this means.
If not valid compression — 0 marks.
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Statement True (v) False - correct the statement
A section of primary A section of secondary storage is
storage is partitioned to partitioned to act as virtual memory
act as virtual memory
Data from ROM is Data from RAM is transferred into VM
transferred into VM
VM is needed when RAM v

is full, or nearly full

Data from VM is transferred back to
RAM when needed

Data from VM is
transferred back to
secondary storage when
needed

a i 1 mark each Question is not what they
Primary store, but why they are
* io store (active) datalinstructions/software/OS that the processor needs to access needed.
I without primary the computer won't be able to start up/work
// (ROM) so the start-up instructions are not deleted when the computer turns off Secondary NBOD 'to backup
Il (RAM) to store the currently running data/software/instructions data' without reference to the
lf (Cache) to store frequently used datafinstructions long-term/permanence
Secondary
* to store data/files long-term/permanently
/{ without secondary the user's files will not be stored when the power is turned off
/f store data not currently being used
a it | 1 mark for device, 1 mark for data Allow any secondary device.
* Hard drive // SSD // USB {memory) stick // Flash memory card / CD // DVD etc. BOD 'optical disc'
* E.g. Images created // documents // software [/ files // data moved from RAM to
virtual memary Question asks for device not
type of device e.g.
magnetic/optical/solid state
is NE.
Award example even if
incorrect secondary storage.
USB on its own is NE
a iil | 1 mark for each row. Allow a description of the

error in column 2, e.g.
in row 1: 'primary should be
secondary’

Accept HDD/SSD for
secondary storage for the 1%
row.

Do not accept primary for
RAM (rows 2 and 4).
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1 | (a) 1 mark for sach row 4
File size 2 K K F ]
megabytes | petabytes | kilobytes | bytes | gigabytes
2000 v
| byles
2000 v
terabytes
16 bits
v
4 nibbles
1 [ ik 1 mark; fior working 2 Mo FT for answaer from warking.
a.g. dividing by 2, or writing the powersfvalues with the binary below, subtracting.
Award the working mark If the binary is
1 Ak fof answer I k-bo-Tront Le.
110111 1248 16 32 B4 128
11110 1 1
1 | le) 1 mark for working 2 Mo FT for answers from working.
.9. multiplying by 16 (2 * 16 + 15}, or converiing to binary first (0310 1111)
1 mark for answar
4F
1 | id) 1 mark for BD 1 Correct answer only
1 [ (e} 16 1 Correct answar only
1 if OO010a001 1
68 | (a) | () |1 rmark per bulle! to max 3 3 | MP2 do nal award freguency
# (analogue) sound wave is sampled of the wave is measured
= .. ampltudeheight (of wave) is measured
= .. al seliregular Bme intervals I by example
*  [Each sample/measurement & slored as a binary numiber
B (@) | (i) | 1 mak lor each row 3
Change File size File size | Accuracy @ Accuracy
increases | decreases | increases | decreases
Duration changes *
fram 10 minutes to
20 minutes
Sample rale changes ¥ v
from 44 kilchertz to 8
kilohertz
Bit dapth changes ¥ v
from 8 bits to 16 bits
L] (b i |7 1 | Case sensilive
Mark first letber
] (b) | (fil} | Unicode 1| Accept any other valid
E | g 1 mrark each be masx 3 3 | Accept anylhing reasenable
a.9 but nod features of image
= Haight .3 namas of people
= Width
*  Colauribd depth HAward resolution for height
s Dale or width, bt max 2 for
Goolseaton resolution/d@mensionsimage
: =apiri size, haight, width.
* File type
‘Colow” on (ks own (s NE_
. Compression type “Size’ on its own is NE.
Needs 1o be whal is slored,
.. date is stored, aga of
imape i= not siored.
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1 mark per bullet to max 3 for justification e.g.
Magnaetic:

Large storage capacity

... for staring softwarevideos/HD
Television unlikely 1o be moved

... therafore durabllity/portabllity not required
Cosl to purchase is low

... 50 the TV will be cheaper to
manufacture/purchase

Davice will fitin a tv [ device is small
Longevity (i reliable

Solid staba:
= Large storage capacity
... for shoring softwarehvideos/HD
Television may b movwed
... therefore durable/robustiportable
Fast data access
... elewision will b& mora responsive
Cost to purchase is low
...50 the TV is not oo expensive to
manufacture/purchase
Rur gquigter
Produce less heat
Use less energy
Compact I Bghteeight
...50 tv can be made smaller / lighter

T (&) {1y | 1 mark for Read whole answer
*  ROM s non-volatbe, RAM is volatie f by
description
=  Content of ROM cannol (usually) be changed,
content of RAM can ba changed
T (ay | (W) |1 rmark each o max 2 eg. Allow anything reasonable but must be clearly FAM
* ‘Web browsesfapplication that is running @.g. not jusi stores the softwara’0S (this i secondary
= (Parts of the) operating system cumently slorage).
ruRmning
+ Cument videa/filmitv program being waiched Do not award brand names without exemplification.
+ Data being downloaded buflered
# Button pressed by the wser
= Current volume
= Current channel being walched
= Source baing walched (e.g. HOMI1)
T -1} {1y | 1 mark for example e.g. the 05, web browser software, Allow 2 marks by example, e.g.
reconded show, user preferences "Tor install software that will not be lost when the TV is
twrned off gets 1 mark for softwane and 1 mark for not
1 mark for being lost when fumed off,
= Toslore data once the computer is turned off f
permanently & for non-volatle storsge Do not award brand names without exemplification.
T | (b} | () |1 markfor cholee either magnetic or solid stale Do ot award specific device, e.g. hard dsk, Question

asks for type. But then FT for justification to max 3. If
device and type given award, e.g. solid state drive,
550, magnatic hard disk drive.

Mark first secondary storage type given.

Mo sacondary storage type, read justiication for & type.
Do not award this bul mark justification (Max 3).

Justification must match choios.

If type is inappropriate e.g. optical, do not award,
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2 |a +  Long terminon-volatile storage of datafiles 1 1 mark only io be ewarded for a comect
» Externalauxiliary siorage of data (AD1 1a) | definition,
2 (b *  Dplical 3 1 mark only io be awarded for each
= Magnetic (A01 1a) | cormect definition.
Solid state
2 | Four characteristics from: 4 1 mark {o be awarded for each correct
+  Capadty/size {AC 1b) | characteristic to a maximem of 4
» Spesd Frearks.
*  Porability
»  Durability
=  Raliability
+  Cost
3 a 3
RAM ROM (AD2 1a) | Award 1 mark for sach comect tick
Slores the bool up
sequence of the v Mo marks should be awarded if ticks
Sat Mav. ar in bath boxes in a given row,
The contents are
lost when the Sat v
Naw s umed off.
Holds copées of
OpEn Msps and ,‘f
routes,
3 b = A compuber system that is buill inlo another device 1
(ADC1 1a)
3 |c Threa devices from: 3 1 mark {o be awarded for sach correct
(=X (&01 1a) | example identified to a mamum of 3
+  Dishwasher marks
+  MP3 player
*  Washing machine There ane many olher axamples of
+  Mobile phone davices with embadded systems which
+  Manufachwring eguipmant may ba accepiable.
Cuestion Answer Marks Guidance
4 |a = The height of the wave B measuredisampled (at regular/sat intervals) 2 1 mark for each bullat, 1o a maximurm of
+  Tumed info/stored ae binary (A0 1b) | 2
[H] +  The guality will improve z 1 mark for each bullel.
*__The fila size will increass (A0 1b)
5 |a 203 1 Comact Answer Cinly
(02 1b)
b 00110010 1 Comact Answer Cnly
(02 1b)
c « Divide the number by 4 2
» Loses precision (ADZ 1b)
& 1 mark per bullat 2
+ gach character from MOP has its ASCI code stored in the order written (AOZ 1a
= 7T 7980 (MOF) ADZ 1b)
= ASCI code converted to B-bit binary number
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Question Answear Mark Guldance
1 - 1 mark for each completed spaca B read
start-up
ROM stands for read only memory. This siores the start-up instructions changed
for a computer and cannot be changed, random
RAM stands for random access memaory. This stores the instructions and data
data that are currently being used. If the computer does not have enough wirtual
RAM to run a procass it can makes use of virtual memaory. primary
cache

FAM and ROM are both examples of primary memory. Memory located
close to the processor thal allows faster access than from RAM is called
cache memaory,

B a 1 mark per bullel bo max 2 2 Allow each by example such
s Software | applications / programs as text filesfimages

o _including OS Data is NE

s files Instructions is ME

g b i 1 mark per bullei to max 3 3 Porable i NE

fagler access/readiwrite speed no moving parts is ME on its
Smaller in physical size /f more compact [/ waighs less O

More duraibbe/robust
Uses less power
Runs cooler

Cudeter when running
[ b i |1 mark per bullet to max 2 2
= lirmited number of readiwrite times
=  more axpensive (par bybe)

*  (usually) smaller capacity

Question Answar Mark Guidance
1 | (a) Extanded 3 1 mark pear row
ASCI ASCI Unicode

Can represent thousands of
characiers, incheding Russian v
and Chinesa symbals.

Can represent European

characiers such as ¢ of 4, v v
Uses different character codes
for upper case and lower-case
! v v v
(b} = 1000101 (E) 2 | ignore leading zeros
» 1001000 (H)
[el | {if |= The helght/amplitude. .. 2 | DO NDT accepl frequency
8% a numernical value
« _..of the wave(form) Dia ol aceept "in binary™ [given in
. question)
(i) [+ 48.000samples taken.., 2 | BOD How often samples are taken
* .parsecond frequencyof samples

GCSECOMPUTERSCIENCETUTOR.COM



https://www.gcsecomputersciencetutor.com/

GCST

0.9 4 Any 4 poents for 1 mark each
* Raduce the sample rate (from 48KHz to a lower rata)
=« _.gofewer samples are taken per second Allow "compression” by fsed for 1 rmark if
=  Raduce the bit depth {from 24 bits to a lower bit depth) no other comprassion mark awarded.
* ...50 less data is used for each sample Allow sultable expansion of this for 1
*  Lge lossy compresaon. . mark.
s ... boremove daia (thal wenl ba naliced) 3o nal N——
L] nok acoEp n =
. Uﬁﬁ::‘:;; mlml n:iﬁh:l:ladm expansion for kasless or "data is lost” as
&, shore this more afficiently wpansion for lossy.
+ Reduce the length of the sound file ...
= .. byexampde (from 30 saconds to & lower length) /i less dataio siore
5 (&) 1011 0010 2 1 mark par nibbe.
Mark right to left. Must be 8 bits (as par question)
[1:1] * Transisior has beo stales 2 Aliow values Tor BP1
+ 1 représents on, O represents off
= Each transistor siores one bit
+ Muliiple transistors used to store a binary value
[(3] (o7 ] 1 mark per hex digit, mark from right to left.
Max 1 mark [ Frore than 2 characters given.
[C]] Incorrect ticked 2 T mark for identilying issum, 1 mark 10r reason why
Drarla cannol be stored in heaxadecirnal 7 ol data is Al FT for BFZ # candidate agrees but providas furthar
siored in binary ¥ hexadecimal is a shorbout for clarilicalion thal shows they understand.
compautar schantists
[(]] Tinasy shin s 3 3 marks for gl connections correcty mada
[ep—r— PPy 2 marks for 2 or 3 conneclions cormectly mads
1212 1o T o e 1 mark for any connection correctly made
lﬂ:.-’ﬂ.ﬂ.'.:-\.r..-
3] 1100 1100 2 | 1 mark per nibble, Each pair of nibbles in queshon can be added
Indbadually 8o o requirement for FT marks.
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5 d 1 mark per bullel to max 2 2 BOD non-volatile
a.g. BOD cannoi e changed
= Slome BIOS
= .. the bool-up instructons
« Siores data thal showld not be changed
# Stores data thal must be retained when the computer turms off
= Shore firmware/05 fundamentals
5 f 1 mark per bullet 4 Accepi bullets 1 and 2 as
eg division by 1000000 or
* 200000 /1000 10485786
= 200/ 1000
s 1Gb=5videos | 80*5 j &0/ 0.2 Bullets 1 and 2 may be
= 400 videos coam bined
O
«  BOGE = EOOOO ME Accept 1000 or 1024
=  BOOOOME = BOOOODODOKE
= BOOOOOOD [ 2000000
«» 400 videos
4 | [a) » E3 2 1 mark per digit (mark right to left)
Max 1 if any addibonal leading values
AD1
1b{2)
4 | [B) o 0110 1001 muest be B bits 2 1 mark per nibble {mark right io left).
Max 1 if any additional leading values
AD1
b2}
4 (e) 1 mark per bullet to max 2 2 Mark response as 8 whole.
» Easieriquicker to communicale | enter [ wiile |
read | remember ADT | Do not accept answers simply describing what hexadecimal
# |Less chance of input erors I easier to spot B2} | s,
BITors
s They are smaller [ shorber “easier to understand” or “easier to use” on s own s NE
* [Easy o convert betwaen binary and ) :
Hexadacimal BP3 (smaller) must refer io size when written down, NOT
size when stored which is unaffected)
4 ¢ « 00001111 1 Ignore missing or adddional leading zeros
A
181}
5 a = Mumber of pixels (in an image) 1 Accept pixels par nch [ mm ! unit area ({density)
= Height and width {of an image) iz
b1}
5 b = 80 (pixels in an image) ¥ 15 x & (pixelks in image) 4 Must clearty show rultiplication for A7 EBP
= hulliply pixels x bits per pixel
= ...2 bils required per plxel (because 3 colours) o
. biZ)
# 180 bits overall answer ADH
1Bz}
5 c + Reduce number of pixels | resolution 2 Accepl dascriptive answers linked 1o givan logo (e.g
= Reduce number of colours “change fo black and while only")
* |sa losay compression "Dzi “Make mage smaller” i NE
* Lse lossiess compression 1
Allow comprassion by itsall for one angwer.
5 d i # [Data gboul data / the imagaifile /| propertias of tha 1 Do not accepd examples without a definition,
fie
AR
L
5 d li | &g 1 Accept any sensible data that could ba stored alongside
= height an image.
= widlh A
» colour depth 142l | Do not accept filename
= resolulion
= geolocation
= dateftime ereated/last adited [ imestamp
s file type
« author details
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1 b i 1 mark Tor esch mow 8
A 1a (5)

RAM | ROM

Stores data v v

The mamory is volatile ¥

Diata will not be lost

when the compuler is ¥
turned off
Data |s read-only, "
cannct be changed.
Stores currently
runming data and ¥
instructions
1 b i |1 mark 1 ¢ Accepl description of
ADZ1a(1) volatilednon-volatile
RAM iis violatibe I/ Flash mamary is non-volatile
FAM is faster lo accessistone data than Flash memory [ Flash +  Bod - RAM is prirmary
memary i shower (o acoessisiors data than RAM Flash is secondary
# RAM stores currently running programsfinstructionsidataos
Flash memory siores files and software
= RAM can be directly accessed by CPU ff Flash data has 1o go o
RAM befora CPU
1 ¢ i | 1 mark for any suitable example 1 « USH on its own iz
ag. ACT 1b(1) incormect.
Solid state drive /f 550 W flash drive
USB memaory stick ¥ USB drive *  Accept USB stick
Memory card I/ S0 card mamary stick
s Do not accept Hard drive,
bod solid state hard drive
1 C i | Secondary 1 = FT from (i) a.g. if RAM is
AD1 1b (1) given for 1ei then this
answer must be primary.
= FTLUSE (ME 1ci) as
secondary,
e M 1clis NR or nol an
exarnple ol primary or
secondary storage, then O
for whatewer is hara.
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1 o ii | Mark Band 3—High Level 8 Tha following is indscative of
(6-8 marks) ADZ 1a (4) | possible factors'evidence that
The candidate demonstrates a thorough knowledge and understanding of | AO2 1b (4) | candidales may refer to but s
a wide range of considerations in relation 1o the guastion; the material is niat prescriptive or exhaustive:
generally accurate and detailed. indicative Content:

The candidate is ablke to apply their knowledge and understanding directly ili

and consstently 1o the context provided, Evidence/examples will be = Both are Small in size /

explicllly rebevant Lo the explanation, portable and can easily be

The candidate is able to waigh up bath sides of the discussion and moved between Kermy's

includes reference to the impact on all areas showing thorough higemie and work

recognition of influencing lachors. = Solid state can be smaller

There I3 a well-developed line of reasoning which s clear and loglcally »  Solid state less likely to

sfructured. The information presented is relevant and subsianiiated. break

Mark Band 2-Mid Lavel = Oplical are not robust |.e.

(35 marks) sasily scratched/damaged

The candidate demonstrates reasonable knowledge and understanding of while baing moved

a range of considerations in relation to the guestion; the material is » Solid state has no moving

genarally accurate but at imes underdevaloped. parts so unlikely to break if

The candidate is abke to apply their knowledge and understanding directly dropped

to the context provided although one or teo opportunities are missed. Capacily

Eridanng.l’axnmpinn are for the most part implicitly relevant o the « CDs have small capacity

explanation. ) »  Depends on Kerry's files if

The candidate makes a reasonable attempl to dscuss the impact on most they are small files e.g. text

areds, showing reasonable recognition of influencing factors. documnanis then a CD

There is a ling of reasoning presantad with some sfructure. The mighi be large enough bit if

irformation prasented s in the most part relevant and supparted By Some there are lots large fikes

avidance. e.0. videoa'software than
solid state may be more

Mark Band 1-Low Level appropriale

{1-2 marks)

The candidate demonstrates a basic knowledge of considerations with Cost

limited understanding shown; the mataral is basic and contains soma « Dplical cost is small per

inaccuracies. The candidale makes a limited attempt to apply acguired GB

knowledge and understanding to the conlext provided. + Solid state can be reused

The candidate provides nothing mone than an unsupported assertion. more limes because it's

The informalion is basic and communicaled in an unsfructured way. The more durable so may be

irformation is supported by lmiled evidence and ihe relabionship fo the cosl effective in the long

wvidence may not be clear., farm

0 marks

Mo atternpt to answer the question or response is not worthy of credit

1 [+ | 1 mark for comest working 2
e ADZ 1b {2)

5*1024 & 5*1000
1 mark for S120 MB i 5000 MB
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(@) [ (0 [1 mark per bullet Io max 2. ] Oo not accept frequency
A1 b2
*  Helghtlamplitude of wavelam is sampled/measured : Do not accepl utnrealistic sample rates (e.g. once per
» Convartad o/ stored as binangdigital sacond).
«  Sampls [ measuerements laken al a regular interval |
sot interval | by sensible éxample (eg 44,000 imés per
sacond)
{a) | (i) | 1 rmack per bullet o max 1, 1 Accept refengnce to Hertz (Hz) s time penad
AD1 1a (1)
e number of samples taken per second J per tima
period
« How pitenregulariy a sampie is @ken
{a) | (M) | 1 mark per tick to max 2. 2 If 3 ticks given, max 1 mark
Thok | | v A1 1b 12] If & ticks green, 0 marks.
=
The file iz o the cigital seooring
will e sraler
Tirag s sizer oo Eee Sl PO W
will [ Aarpyar
The gty of plagbacs of the deglal 1'.-""
recoiiing will be hetier
The quality of playhack of the digtal
1 ST will [ wOesE
(b} [ (i} |1 mark per bullet o max 3, 3 BP1 neads idea of pichure made up of pioels, nob just
AD 18 (3) | mention of the word *pixel”
s mage made of [ eplit up inlo pixels
+ Each pixel givan a binary coda... Mot engugh b say “each colour is given a binary code”,
» __which represents the colour of that pixel must heve the idea of this being unique or different for
s  Each colour is given a different/unique binary code. each different colour.
+ Meadala stored slengside the mage
Accapt examples of metadata such B8 helghtisdth,
geclocation, etc. Do nol accept file sizefile name.
{a) 1 mark per bullet io max 2 F] Award working mark independently of final answer but
AD1 b (2) | working musl be comect (e.g. (16 x 10) + 3)
« B3
* Correct working shown.
ib) 1 mark per bulled o max 2 2 Ayward warking mark independenily of final answer but
ADT 1B (2) | must be comecd (e.g. 1+2+8+16+64 I cormect binary
. 81 headings with comect binary undermeath)
s Correct working showrn.
idj 1 mark per nibble 1o max 2 2 Mark from right 1o left.
AD1 1B (2)

= 1101 1104
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Quastion Answer Mark Guidance
1 (a) i 1 mark por bullat 1o max 2 2 Do not anvard capacity.
* [For long termdpermanentinon-volatile slorsgs [ slaring Bullat 3 - portable is not encugh, nesds
wher the device is turned off AD2 1a (1) | application.
*« To store the videos / data | files ADZ 1B (1) | Bulat 2 — must identify the data is stored,
» For transferring the videos (lo another device) For videos accept data or any other ierm that
gignifias the dala is beng sloredranstemed
8.5 pholosimages.
Accepl any alternalive for ransfer &g,
sendingexporting.
1 fa} | 1 mark por bullat o ma 4 4 Award marks for why solid slabe s mosi
Max 3 if only stating features AD11b (1) | appropriate, not why others aren’
2.0, ACZ 1a (1)
*  Porable AD2 1b (2) | Award descriptions of portable/durable atc.,
#  Lightwaight noft kooking for key wonds,
e device needs o be camed
#  Small physical size Do not just alow can transfer dala alsawhens,
s &g can fil inasmall camena ) o )
. Duable Fastest wilhoul quanlifying readiwrile speed is
« Mo moving pars not enough.
. icE i iif |
&'i:igﬂ; mmmmmr e creppes ot e Allow: quislest and expansion,
s [Felablhe
e .8 nesds o work whin out in the field' e rct v ot
* Sufficientitarge capacity Small on its own is insulficient as it could
s Videos are lange file size [ slone mone videos mean physical or memary size.
« [Fast access/readiwrite spaad
s ..B.q. the device will retrieve the videos without delay
= [Efficient power consumplion
s .._Eq. run on battery [ longer ballery life
1 {b) 1 mark for working, 1 mark for answer 2 Fimal answer must be 10, not 10,24
= 10Z24(1000) 1 100 & 10100 = 1000 AD21a (1)
= =10 (videos) AD2 1 (1)
4 (d) 1 rmark per bullet to max 3 3 Many candidates are giving disadvaniages of VM, or
« WM is used when RAM & Tull A021a(1) | that the computer can now run More pRograms,
« ..par of the secondary storage used as (temporary) | AD2 1B (2) | which are NAGQ
RaAsAM
= [Data from RAM is moved fo the secondary
storaga’vM (to make space in FAM)
= RAM can then be filled with new data
=« When data in VM s needed it s moved back to
Rab
4 dy |l 1 mark per bullat to max 2 2 Do ot award: VM is slower, without quantifying
o More FAM will improve the performance ol the A2 1b(2) | slower at what
compuber {f More RAM will speed up the access fo
data
» Excessive use can cause disk thrashing ...
« owhich decreases perfomancs
# WM is slower to access than RAM direct (because it
has o go back 1o FAM firsi)
+ Maoving data babwean RAM and WM lakes
procassor lime
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-] {a) | |+ 10000100 2 1 mark per mibble, Mark fight 1o kel
5 (a} |@i} |= BS 2 1 mark par hex digil
Question Answier Mark Guidance
5 {a) | (i) |1 mark per bullet, max 1, 1 Accept 001101/ 1101, Allow any nuember of leading
= 00001101 B0,
s Divides by 4
5 {a) (W) | 1 mark per bullet, max 2. 2 Do not accept answers that simply show the numbear
shifted.
s Laf shift
= oni@ place
{b) (i) 2 1 mark per row. Correct answer only. Do not allow
a 1100001 leading zeros.
e 1100101
{b) (iiy | 1 mark per bullet, max 2. 2 Allow numbers (e.g. ASCIl has 7 bits, Ex. ASCIl has 8

+ Extended ASCII uses more bits // ASCII uses fewer
bits

* [Extended ASCII can represent more characters //
ASCI| can represent fewer characters

s ... byexample (e.g. extended ASCI| can represent
European symbols / other languages)

bits) for either bullet point but these must be realistic.

Bullet point 1 and 2 must be a comparison (e.g. “ASCIl is
7 bits" is not enough on its own).

Do not accept answers that are technically wrong (e.g.
“ASCII does not contain symbols such as 7, |, #")
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max 2 for explanation

max 1 for examplaiuse of Figure 2 or 3

&n mage 5 made uo oficonsisls of pixets

A pixel can be one calour

Each colour has a unsqualcormespending binary number
Each pixelisquare is given the binary number of its eslour
The pingry numbers ane stored in ordar in the file

= E.g. White = 000, Red = 010, Blue= 110, top line would be
00001 0010010110110

Accapt answars that are annotated on Figures 1 and 2, or that use
thess io explain the storage of the image, that meset each bulled

The axamgle must be more Than describing whal e disgram
shows, 8. ‘e squanes with W in are while' is nol anough.

2 frodm
= [Fewer bits are needed per colour
= which means fewer bits per pixal
*_ Any example from disgrim

“fierviar bits™ with no reason or application ks 0

Max 1 for description, 1 for axample
s Tostone dalainformation abowl the imagaidata

+  E.g.Dimensionsheightiwidih®™o. of bils par ploal'Colours
usedilecationidateflea ype

0 marks for flename as exampla
el you something about the image' = TV
0 marks fior dedinilion referring o how ihe image is ‘displayed’

Question Answerlindicative content

Mark Guidance

The amplifudaheight of the wave is measured
Al saliregular intervalslby ressonable example
And stored as a binary number

The samples fomm an approximated sound wave

3 NOT frequancypiich

MNE For the sacond bullad, this must relate 1o set intervalsthe
sarme interal. A sel number of Bmes per second does not
suggest the same intervals.

Filg size incroases
5o the sound is truerbetter quality'more accurate
compared 1o the goainalianaloque

i Max 2 per difference, 1 for RAM, 1 for ROM
8.9

«  RAM is volatie

«  ROM is non-volatie

*  RAM stores currently nenming
imstructions'programa/applications/0S/data
+« ROM stores bood-up instrections/bios

s RAM can be changed
*  ROM (normally) cannol be changed

4 Do not allow 8.g. ROM is not fer 2nd marik.
Mark in pairs

an Answerlindicative content

Mark Guidance

ii 2 from

same lime/be held in FAM
o  Open softwane lastenrespond fasber
= Mo memory space for current programs
= Run more mamaory intensive programsdralevant
example e.g. compuber garmes/graphic rendering
*  reduces use of Virlual Mermory
. less use of hard drive which is slower to poccass

+ Mo instructions/programs/applications can run at the

o Answerindicative content

Mark Gubdance

10111111

1 mark per nibble
1100 0110
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2015 )

7T |a Instructions/programs{currently running)data ane If the candidale has describad the funclions of RAM and tha
stored in the RAM... CPU separabely, only award the 2™ bullet if it is clearly stated
these are felched from the RAM by the CPU that instructions ane fetched from FUAM.
{Processor
... whare the insfructions are exacuted / Mention of the fetch = execute cycle in the CPU e enowgh to
instructions are processed / data is processed award bullet 3.
2 |8 . 1G8 Accapt 1.024
T UNiLS g NOL NECESSEnT
b . Cperaling sysbem Accapt axamplas for the second and third bullet poinis as
»  Other programs that ane running / in current use long &% i & clear that the programs/data are currently in use
= Data in current use
Accept instructions for programs
c . Using the hard disk/secondary storage Mode that these points may be worded differently. E.g. “items
. Usad as RAM0 store the contents of R&MImain are laken from memory and slored on 1he hard disk wnlil
memory needed” achieves the first two bullet poinis.
. Heeded whan thare isn'l enough physical memony
i|a Angwer: 1110 1111
One mark per nibble
b - There (= an extra carmybit
*  As number cannaol il into & bits
- Result is greater than 25511111111
B |i |+ Solid state I
ii - Fast access.. Mo follow through from (i), Candidales need lo idenlify a
- ... less dalays whan tuming the devica on' turning relvant characleristic of so8d slate storage for tha firsl mark,
pages etc... and expand by explaining why this = an advantage in an e-

Mo moveable parisirobaest
... can ba handled'manipulatedimowved without
damaging it
Smalllight enough. ..
fex fit within & hand held device

I P
_..bo extend battery life of reader

ook reader for the second mark.

Nobe that portable'capacity are nol acceplable answers hire
(a8 solid state storage is not perticulary more portablafarger
than other forms of siorage for this application)

Cheap o produce

Easily portable / Fits in a magazine

Enough capacily lof @-ooks

Can be read by other devices e.g. computers
Read only | can’l wrile ower

Mobe thal portable/cagacily are acceplable answers here (as
they are relevant characieristics of & CO ROM)

Do mot accept “compact” {unless portability is cleary implied)

lillilall

optical
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THANK YOU!

GCSECOMPUTERSCIENCETUTOR.COM



https://www.gcsecomputersciencetutor.com/
https://www.gcsecomputersciencetutor.com/
https://www.gcsecomputersciencetutor.com/

